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Note/Z :

(268)

(1)

{2}

(3)

This paper consists of Objective Type Questions and is divided into TWO
Sections (I and II) as under :

aam—ﬁa@%mwmﬁmmﬁﬁ%wa@vﬁu@n)ﬁﬁw%,ém%
42 aftfa 2 .

(a) Section—I consists of 130 Objective Type Questions on General
Awareness, Current Affairs, Common Legal Knowledge, Aptitude and
Mental Ability.

(F) @oe—I § 130 wghwcf ww aw= 39, awivs B, o G
A, ahRfe td wefds dvaa woemaia €

(b) Section—II consists of 20 Objective Type Questions on (i) English
Language and (ii) Hindi Language.

(@) wWos—II 4 20 sgfamed™ W (1) 0 ww SR () B ouwm ¥ TR w
s # )

A candidate is required to attempt as many questions as he/she can of
Section—I, and questions of ANY ONE of the TWO Language papers
{f) English or (ii) Hindi in Section—II.

sl | onifd R % wvs—1 T wueR—I % (1) SSH W (i) R mw I %
Al T = g W

Each question carries 3 marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unatternpted question.

mmsmméimmm%mwmmmimm
T H W I |

If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one,

R e S I wd I F fae wiw @, @ Feeen v g 3

Each question is followed by Four alternative answers {1}, (2), (3) and (4). Only
one of these answers is correct. Select the correct answer and record jt against
the relevant question by darkening the circle with Ball Point Pen in the
Answer Sheet, as per the guidelines,

mm%wéﬁ%&mmmﬁﬁﬁ(1),(2),(3)3?11(4)11%?&“?133511'&1
TR R FaE T @ I AR R ER IW W ww BRm aw SO g R
- gl v ¥ e fven sfie 9w (den) 9w wie 91 o
FIEN FTH US|

1 (P.T.0.)
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Section—I
wWug—I
1. Unliguidated damages in the context of breach of contract mean
{1) damage by a firm which has gone into liquidation
(2) damage to a firm in the hands of receivers
{3) damage to be assessed by courts as those are not predetermined
(4) damage as assessed by parties to the contract before entering into it
g i % g ¥ oRfaiie geaEh @ o 2
(1) = ¥ = grr s goeeht § gem geem
(2) frelt wd # feflar & g1l gen g@am
(3) @ g fmem Faior =mem g fRn sem wifs 2 g@-faiie 78 @9
(4) @R A F 73 v g ferifa g
2. Assault and nuisance are

{1) wrong under Criminal Law {2) wrong under Tort

(3} wrong under neither (4) wrong under both

e 3t oAy &

(1) eairr fafyr & w=wia Qw (2) gl F sr=ia QW

(3} a1 & @ Rl & arwia A T (4) 241 & FI=rfa Ay
3. A man commits adultery if he has sexual intercourse with a/an

{1) unmarried woman (2) married woman

(3) any woman except his wife (4) unmarried woman without her consent

(268) 2
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TF 7Y S il § Afg 9w Ay F@ R, 0%
(1) fafea wieem & (2) Taanfea wfeem &
(3) et Ul % fyerm fodl afgen @ (4) aAfeaiiea wfeen ¥ 3@ gewfa & f

4. A man is obliged to maintain his divorced wife

(1) forever {2) for 20 years

(3} till the children grow up (4) till she gets remarried

TF TE9 el deteh-y et F wer-uiee ¥ §em @

(1) agg & fom@ (2) 20 I9 wH

(3) 99 7% q= ;T B TN & (4) v9 7% 98 TAEAR TE w A

5. The Attorney-General of India holds office

(1) for life

(2) for a term of six years

(3} during the pleasure of the President

(4) as long as he enjoys the confidence of the Parliament

W 1 HEEETE U8 9RO F @

(1} sTsiEs (2) & a=f % @

(3) Tgufe & warg wi= (4) V9 9% W GG I fawEmE yw 2@
6. The member of Judges of the Supreme Court is determined by the

(1) Chief Justice of India

(2) President of India

(3) Parliament

(4) President in consultation with the Chief Justice of India

(268) 3 (P.T.0.)
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10.

{268)

T AEes % aErint f wem = Pyl fEEn s 2
(1) & & qen gty g

(2) wRa % agule ZR

(3) "He g
(4) YRR % JE¥ iy % wes 8 Usuid ga

The Indian Federal System is modelled on the Federal System of
(1) UsAa {2) Canada (3) Australia (4} United Kingdom
yrdE viadm woneft sfeeuw R, a3 & wimdm worel = e

(1) 9g% T @l (2) F= (@) =Aref 4) FEeS ForTew

The person making an affidavit is called

(1) defendant {2) deponent (3) applicant 41 witness
IY-GF 3 Tie SORF F FEd E
(1) s (2} wifiransh (3) ¥aTH (4) @

Collective term used for lawyers as a body is

{1} Bench {2} Bar {3) Association (4} Council
Fhiel % g F w0 A W R 9 o ayiEE e #
(1) s= (2) IR (3) TR (4) =wEfaw

An arrangement in which an accused pleads guilty to a criminal prosecution and in
term receives a lighter sentence is called

{1} arbitration {(2) conciliation (3) plea-bargaining (4) mediation



11.

12,

13.

14.
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11U/103/28 Set No. 1

= 7em Gl ahge & ol afEem § ft €9 o afieem @ ® qw we # woa
TTEW WH FA R, Feen @

{1) HreTEm (2) ga- (3) stfe=m @ (4) e

An authority given by one person to anocther to act on his behalf is legally termed as

(I} passing off (2) share authority

{(3) power of authority (4) None of the above

T WS ¥ e o s W R 70 % Y B W wfter @ fafrE aw § we #
(1} =en (2) WItEPR = (3) FEARATHT (4) 390w § @ g T

The bail granted to a person apprehending arrest is called

(1) immediate bail (2) surety

(3) advance bail (4) anticipatory bail |
i@ &t sreiam ITel safeh & & W8 SuEe wEed) #

(1) 38" S (2) Wiy (3) wfrwadt s (4) fim swea

Improper use of power or trust in a way that deprives a person of freewill is legally
termed as

(1} undue influence (2) fraud
(3) coercion (4) cheating

wie T favasdam & @ TR e Wm S % w = ® wed e 8 afwm w®\og,
fafas s # wFgeran 2

(1) E=F & (2) *92 (3) wdrsA (4) B

Law passed by a Legislative Body is called
(1) Bill {2) Statute (3) Statue {4 Act

5 (P.T.0.)
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15.

16.

17.

18.

(268)

w el Fem g i iy seard R
(1) T (2) ufefrm (3} uf§ (4)  srfirfaan

Defamation by means of writing, print or some other permanent form is called
(1) slander (2) lapidation {3) label {41 libel
ww, fe @ o= welt = % w2 R o oeel, weemar 3

(1) SF-T=R (2) edfizym (@) o (4) TUH-¥E

A person who guarantees the payment by anocther is catted

{1) guardian (2) surety (3} next friend {4) best friend
@ G W W F g0 R IR AR W W TG w8, e 3
{1} = (2) wfng (3) @R (4) ustag fim

Tempdrary postponement of the execution of a criminal, i.e., death sentence is called

(1} reprieve (2) respite (3) remission {4) pardon
U ! & wiet wufy gepeve ¥ s e w owd #
(1) whaenem (2) T (3) wiEw (4) &

An instrument under which powers are conferred on various organs of a Government i
referred to as

(1) Code (2) Covenant (3) Constitution (4} Statute
T frga B % swdn Tan & ffs o 9 ofeel w6 o €, aehle B s 2
(1) =i (2) vt (3) Ffdam (4) uffrm

6
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21.

22.

23.
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A Court ordered allowance that one spouse pays to the other spouse for maintenance
and support while they are separated is called

(1Y alms (2} alimony (3) alienation (4) amnesty

w®w = 70 R o R W ARy W RER § TF wgER gW UEER ® W 9% F I
7@ ¥, wo-givo g WER ¥F 391 8, FEel €

(1) fou (2) Fatz == (3) = (4) InTEEE

A contract with or by a minor is
(1) wvoid (2) voidable (3) unenforceable (4} wvalid
FRE ¥ @Y | gr wfag R

(1) I3 (2) YEweiE (3) AT 4) ag

A legally binding agreement enforceable by law is called

{1) Tort {2) Contract {3} Promise {4) Duty
ot =1 A s fafy g yad s wEeT @
(1) TFf (2) ufa (3) T (4) =g

Which Courts in India are empowered to issue writs as provided by the Constitution of
India?

(1) Supreme Court (2} High Courts (3) District Courts (4) Only (1) and (2)

Jm 5 wmm ¥ ofwm d Ro o }, @ § e Sl ® e 9 B IR f wife T
27

(1) F=a9 <A™ (2) 3= TERE (3) Toren e (4) FFa (1) @ (2)

A person against whom any Court proceeding is brought to trial is called

{1) plaintiff (2) defendant (3) petitioner (4) respondent

7 (P.T.0.)
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% =in fas foeg feh =maem § fen 3y =dad & Sl R, s @
(1) = (2) Wi (3) = (4) weeff

24. ‘Law Day' is observed every year on

(1) November 26 (2} January 26 {3) June 26 (4) December 26
A% v fafy feag’ wam s R
(1) 26 A=t 5 (2) 26 SF= = 3) 26 5 # (4) 26 T @t

25. When a Court sends someone in judicial custody, then it means the person is
(1) sent to jail
{2} sent to public lockup
(3) sent home under judicial protection
(4) None of these

Yo Iy e & R afivan € 9@ ?, ) @ a@d g R s @ =t
(1) S S fean (2) ufew wawma § 49 fean mn
(3) =R W™ & oid WA G mn (4) R ¥ w1

26. A pleading filed by the defendant in a suit stating his grounds of defence is legally

termed as

(1) plaint (2) written statement

(3) decree {4) document

et o= & oY s ¥ ol W W A g TR g0 ofew wiiEeR 3 e weg 2
(1) 9=~ (2) fofa o (3) f&h (4) TR

(268) 8
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28.

29.

30.
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The command of a Court for enforcement of Fundamental Rights is called

(1) public interest litigation {2) writ

(3} order {4) dictate

7w Rl ¥ vedv ¥g SEEE W TARY FEe 8

(1) o= fwmag (2 (3) MW (4) &
Statement by a victim as to the cause of his/her death is called
(1) culpable homicide (2) written statement
(3} dying declaration {4) confession

difga gR1 ol 9oy % S @ T U R FR T 8

(1) @qufes ama =@ (2) Tofam #=

(3) Ty (4) wehefy

The party against whom an appeal is filed is called

(1} appellant (2) defendant (3) respondent {4) petitioner
R e faeg erfie ofige 6 ot R, Feemar @
(1) orfierrat (2) wfdad (3) el (4) R

Legal aid for an accused is a
(1) Fundamental Right {2) Fundamental Duty

{3) Directive Principle of State Policy {4) Constitutional Directive

sihgw ¥q fafes wermn &, w6
(1) 4= AR (2) & Fuew
(3) Tsa @ Hify w1 fRyw 0@ @) ot Ry

(P.T.0.)
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31.

32.

33.

(268)

Dishonour. of a cheque is an offense under the

(1) Negotiable Instruments Act, 1881 (2) Indian Contract Act, 1872
(3} Code of Criminal Procedure, 1973 (4} Indian Penal Code

¥% W IR AW R, snta

(1) s forma erfufmm, 1881 (2) A Hiye wfafy, 1872
(3) zve whem Wi, 1973 (4) sty Tve wfEa

The term %“ice versa’ means
{1) refer to (2) conversely {3) against 4) truth
‘aren @l wez o Ad R

(1) iz =t (2) fowdles =9 @ (3) f&=z (4) aene

In a book shop a catalogue of books enlisting the price of each book and specifying the
place where the particular book is available is

{1} an invitation to offer

{2) an offer

(3) an invitation to visit the book shop

{4) a promise to make available the particular book at the listed price

ek R gEH § ToiE T % e W YEeg w0 g AW 38 wW oW faify ed g st
a7 fads gwe Juerey @ @t gd et R

(1) weard & fod smimm

(2) wemE

(3) JWE F ghE T@A ¥ A

(4) 38 fouly g% F gl IT9 W IUeRT wA g T
10
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37.
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Which one of the following does not find a place in the preamble to the Constitution of
India?

{1) Integrity (2} Sovereignty (3) Morality (4} Justice
fisfafan § ¥ fras ave & dfaam ) waET 3 ww 38 e ?

(1} =rEEa (2) TH (3) A= (4) =

There are two classes of Advocates in India
{1) Advocates and Senior Advocates

{2) Barristers and Solicitors

(3) Lawyers and Attorneys

{4) Supreme Court Advocates and High Court Advocates
g # stfEwet & R =i 2

(1) Hfam @ sy Al

(2) A T FlAR

3) wHe @ ArEE

(4) FHGH ARG F AEE W I AR & AfEE

The word ‘mala-fide’ means

(1} etrroneous {2) good faith (3) bad faith {4) intention
‘EAETEE ¥eg W Y g §
(1) & (2) TEuE (3) gwfa (4) IR

A Legislature consisting of only one House is called
(1) Bicameral Legislature {2) Unicameral Legislature

(3] Lok Sabha (4) Rajya Sabha

11 (P.T.0.)



11U/103/28 Set No. 1

38.

39.

(268)

frarvee el e ©F #63 o R, W wG IR

(1) femeta foammosa (2) wHwEiE faurmea

(3) SrFEw (4) TSI

When a loan is taken in the security of a movable property, it is called

(1) mortgage (2) pledge (3) debt (4} exchange
v wfy f sfayfe = fomn e w0 e R

(1) o= (2) et @ (3) =0 4) fafom
Right to Information is

(1) Statutory Right (?) Fundamental Right

(3) Directive Principle (4) Fundamental Duty

AT B AR R

(1) gt iR (2) & AfER (3) Hfa-frv= @ (4) WA wR
What is the legal meaning of the word ‘battery’ ?

(1) Cells, as used in a torch

(2) Battering a person to death

(3) Actual or intended striking of another person
(4) Assault

‘@l weg w1 faftrs e1f wm R7

(1) 79 & 7@ 4 I I<™

(2) Tt =ifs &t fic s AR gEM

(3) et =afes it arafas @ omaifg smema
(4) &

12
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A, a minor borrows Rs 10,000 from B for defending himself in a dacoity case. In this
case

(1) B is not entitled to be reimbursed as an agreement with minor is void ab inito

(2} B is entitled to be reimbursed, as the money borrowed by A is to defend his life and
personal liberty

(3) the money supplied by B is not for the minor’s necessities, hence he is not entitled
to be reimbursed

(4} B is entitled to recover the money when A becomes a major

A, TF FEE 33 H eHd F b WS § q9W ¥ B @ 10,000 To IUW wel ¥ W WHS
T

(1) A veh & fFm T &) w8 & I R el B whgfd fRY S g weeem T R

(2) B Waqld R 9™ ¥g wher § HIF A 30 3ur o v @ Iud S w e s
# o F oo

(3) B g0 fan mn u wmms A qEwsd ¥y A o safed 9 whafd B 9 w1 wEeR
T 2

4) A S8 W& 8 Q@ R, @ B 99 A9 YW FR FH TSN §
A invited B to his house for dinner. B accepted the invitation but did not turn up for

dinner. A filed a suit against B for the price of the non-consumed food. Can this
agreement be enforced by law?

{1) The agreement cannot be enforced as it is just a social agreement
(2} The agreement can be enforced and A can recover the price
(3] The agreement cannot be enforced as B did not accept the invitation in writing

(4} The Court may order A to pay the price for the non-consumable food and also
damages for inconvenience

13 (P.T.0.)
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43.

44.

(268)

A B ® 3 W -9 | omlE Fa 81 B 3 oEm SR R Wy 9' -9 WA
T A B % fa%g 309 3 R ™ 9S8 F I ¥ IR 9faw WAl B w0 9y WK fafy g
vafda famn s gwar 27

(1) = A vaRld T fR S om0 T A TR w2
(2) 38 FW H TAda FAT M FHAT B T A oI W GG FL dHaT §
(3) W yafda T FG W GFRAT ¥ FRFE B A A0 ol fen w9 4 wiwr @ e oa

(@) e e 7 RRY MY oM % Yed aw sWfaw % 9 gEed % yam ®g B oW
AW % FEhAl B

A, a tradesman leaves goods at B’s house by mistake. B treats the goods as his own
and uses them. Is B bound to pay A?

(1} No, because B never asked A to leave the goods

{2) Yes, because A did not intend to leave the goods at B’s house gratuitously

{3) No, because A left the goods at B’s house due to his own mistake

(4) Both (1) and (3) -

A % AEH YA U I 9@ B % W R BN T ¢ B W WA FH AW HH FLITM FLal
2 F B, A YA FH T O R?

(1) T8, =ifF B3 A% 9 91Ed & 3 +ff =a1 o

(2) ¥, WfFE A ® v IPEfeFd: B % HEM W uA S W A q

(3) &, FF A 3 o @ B & 1%H W A ISl

(4) (1) @& (3) TR

A, a man who is weak and sick by disease, is induced by B, his medical attendant to

agree to pay B an unreasonable amount for his professional services. What offence has
B committed?

(1) B has committed the offence of fraud

" (2) B has committed the offence of undue influence

(3) B has not committed any offence

(4) B has committed the offence of cheating

14
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AN T @ $A6R W@ dMR T W 2, F w04 Ffeadn ofews B g sad giuw S
¥ T w3t v ymam w0 F R Qe fen S 21 B Y #-w ey R 27

(1) B3 =92 =1 1wy fa R
(2) B 3 IR SRR F1 90y fEm ?
(3) B ¥ #r¢ siguw I fmm B
(4) B I ¥ H 390y fF=n 2

A starts coaching classes and charges Rs 10,000 per year as fees. A’s neighbour B also
starts coaching classes nearby and charges Rs 8,000 per year, forcing A to reduce his
fees to Rs 8,000 per year. Can A claim damages from B for the loss caused to him?

(1) Yes, he can, as B has violated his legal right
{2) No, A has reduced the fee on his own
(3) No, because though there was damage, there was no legal injury

(4) Yes, because B’s intention was to harm A

A FITM FHE TRET A g A0 YeH k ®9 A 10,000 Fo ¥ig = ém%rAmt@;ﬁBsﬂ

TE § R SR IR F § quT 8,000 %o ¥fd wd war 8, w4 & sft wemh o s
Yoo TR 8,000 To Ffd T8 HAT USAl Bl T A AR T TN & @ B R THAH H ogEd
g 27

(1) €&, #ifF B 7 30+ Tt iR +1 atfownor fear 2

(2) 7, A3 I F AN yoF FW R R

(3) &, FFR F@l JHaE gem o1 wg A fafte afy 9l o

(4) ©, % B # 9WE A ® JHAA TGAHT oA

A attempts to pull B’s nose. B in exercise of the right of private defence catches hold of
Ato prevent him from doing so. Ais moved by sudden anger and he kills B. In this case
{1} A is not guilty of murder as he was acting in self-defence

{2) Ais not guilty of murder as the provocation given by B’s action made him exercise
his right of private defence

{3} A is guilty of murder as he exceeded his right of private defence

{4) A is guilty of culpable homicide not amounting to murder

15 (P.T.0.)
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47,

48.
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A B R % Wit 1 W Fa ¥ B FERH F TN FH BY A &K UFHG oAl B A1k T8
T/ xW FA Y A5 TH AR SEHF F1Y @ R AU AR B F A AW 2@ B 3@ A A

(1) A & 1 3 o ? FGF I8 R W QoW

(2) AT F AW T ¥ iR yRT o F ER & wm w6 R omn o
(3) Az @ i ® wifs ov evoman F sfeR W Aty 2@ R

4} A e H R} T 7 979 I WEF AT T F AW R

A, a Surgeon sees a child suffers an accident which is likely to prove fatal unless an
operation is performed immediately. A performs the operation for the child’s benefit. In
this case

(1) A is liable to be sued because he performed the operation without the consent of
the child’s father

{2) A is liable to be sued because he did not inform the child’s family members

(3) Ais not liable to be sued because he has performed the operation in good faith for
the child’s benefit '

{4) Both (1) and (2)
A & T faffes wE a= # ghema g dme @ W ues g € wwa @Al g
vt € 1 | A 9= % BEg 9 wedwd w2 T A d

(1) A9E @ @ & g & ofla R wifd 3 o= % T f genfa & fo sl &
off

2) ATR TR FH & Faa F oA 2 FifE 393 52 F ofEn & e w1 gl wd e

(3) ASR 9@ W1 &% Tfdm F onfm aff  wifF 3 e R F v ¥ d goum 3
#

@ ()@ (2

A was not admitted by a Law College on the ground that he belonged to a backward
caste. A challenges the decision in the Court. In this case

{1} A will not succeed as the College has powers to make its own rules

(2) A will succeed as this decision is against the principle of equality

(3} A will succeed as this decision violates his Fundamental Right

(4) Both (2) and (3)
16
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A w1 Taw By feem § 39 emar w9 fewm o 5 o9 fied wifw =1 w4 wm fiw
e ¥ AR o R o v |

(1) A T%a & B it frmaa &) s w9 f oafs 2

(2) A O%a B FfE I8 Fulw aumm % g R

(3) A %A B TR w7 frls 3% gE SRR w1 wH we R

4 (2w @)

A to protect his house from theft put a wire fencing around his house and at night

electrified it. A thief attempted to enter his house and suffered grievous injuries when
he came in contact with the fence. In this case

{1) A can be prosecuted because he has endangered another’s life
(2) A cannot be prosecuted as he has tried to protect his property
(3] A can be prosecuted because he has exceeded his right of private defence

{4) A can be prosecuted because he has not put a warning sign

A AW THH R G B 9@ % R AeM F AW W% R 1 ST o e R del U9 o gl

forega vatferr o 21 R| 0 GR weH H YE # WSS FQ@ 2 a0 U gl § wed gen 9w 4
W F @ A oo R W o 3§

(1) A sfeifm frr s o @ +iif% 300 @ % 99 = @S #@ TR

(2) A sfmfE af R s awar } F9ife 3@ otat meafa & gean & wwer fERn
(3) A afrifsm fmn s g ® =9ifF 9% o stewsm & sifiam W @fw
(4) A afRE fwn o o } S9iTE oA o Saad fag wd e e

A in his madness attempts to kill B who is somehow rescued. In this case
{1} A is not liable, because B was rescued and was not hurt

(2) A is liable for attempt to murder

(3) A is not liable because he had no guilty mind at the time of attack

(4} A is not liable as he was mad

17 (P.T.0.}
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A FR I 3§ B & 99 W TG WA § W R o ¥ 99 IE 2 W oAwe A
(1) A Prfge 7ff & =i B = R wE 7= fFn

(2) AT ¥ WE ¥g Reer R

(3) A frEr 7 § wifs ommmw ¥ T o giE omm T W

@) A fiier wff ¥ wifs =g o o

Who convenes the Joint Session of Lok Sabha and Rajya Sabha?

(1) The Speaker of Lok Sabha {2) The Chairman of Rajya Sabha

(3} The President (4) The Minister of Parliamentary Affairs
NF @ TeE B wYE 5% AT gem 27

(1) SiFaa o1 A (2) TSHET W Ay

(3) eufd @) sudm W w o

The age of retirement of Judges of High Court is

(1) 62 years (2} 65 years (3) 60 years (4} 58 years
IE AEEE % A & da e B ooy R

(1) 62 =4 (2) 65 =¥ (3) 60 =¥ 4) 58 =

Which of the following personalities was conferred the Mahatma Gandhi International
Award for Peace and Justice in 20097

(1) Aung San Suu Kyi {2) Nelson Mandela
(3) Dalai Lama {4) Barack Obama

frafafiga # ¥ few =afs =t @ 2009 = MR W@ =@ ¥y TEen TR sRiY gEER wew
e man e

(1) ot om g w1 (2) Yema Todam (3) TN @ 4) =U= HAvEnn

18
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54. Ikebama is a Japanese form of
{1) modern painting (2) martial art
(3) flower arrangement {4) agricultural practice
THAW AR H T THR
(1) smygfs e g (2) Adi@ ol R (3) g TN R (4) Fh =qEEm B

55. Andaman and Nicobar Circuit Bench comes under which of the following High Courts?
(1) Madras High Court (2) Orissa High Court

(3) Calcutta High Court (4) Andhra Pradesh High Court
e freian # wffhe &= i 8 @ faw o= wmem ¥ sl wieft 27

(1) 7ol 3= EE (2) 3dwm 3= =Ee

(3) FAFAl IH A (4) FY TSW I A

56. Who among the following was the first Indian to win an Olympic medal?

(1) Leander Paes {2) Abhinava Bindra

(3) Karnam Maheshwari 4) K. D. Jadav

frafafes 8 @ @ e wde a1 SR oofiie e S @17

(1) fods &= (2) sifa faes (3) FH wewEd (4) Fo fo ey

57. The ‘World Environment Day’ is observed on

(1) 5 July (2) 5 June (3) S September (4) 5 October
‘e watawr femw’ wARm S @
(1} SEIE'T@EB:\ (2) 5313@ (3) 5 R =i (4] 5 ST =

(268) 19 (P.T.0.]
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58. Who among the following is the author of the book Jinnah-India, Partition
Independence ?

(1) Khushwant Singh (2) A. B. Vajpayee

(3) L. K. Advani (4) Jaswant Singh
frafofaa § 8 99 -3t odfrm $R9ST w1 wlws ¥7

(1) g fim (2) T o AR (3) wHo Fo AW (4) IwEw i

'59. Who is the Minister for Civil Aviation?
(1} A. Raja (2) Praful Patel  (3) M. S. Gill (4) Kapil Sibal
T Igw o= w9 }7

(1) To TN (2) YFS wRE (3) o wHo f (4) wa e

60. Who is the leader of Opposition in the Lok Sabha?
(1) Arun Jetly (2) L. K. Advani
(3) Rajnath Singh {4) Sushma Swaraj
ewe # faug = @ @ R0

(1) am%z&ﬁ (2) o %o WEAER (3) Ty fiE (4) g TR

61. Which country won the gold medal in the Delhi Commonwealth Games in Women’s
Doubles Badminton?

(1) India {(2) Singapore {3) England {4) Australia
gt @ wemacy adl 7 fre @ 3 sfiwnsd ¥ e defied § @l uew ofar wm?
(1) ¥wa (2) famg (3) Tty (4) ofemn

{268) 20
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62. Which Indian won the World Billiard Championship in 20107
(1) Geet Sethi  (2) Pankaj Advani (3) Ajit Ahuja (4) Paramjit Singh
2010 & frg wiediw 4 fove fafoerd SHfcaatem i oft7

(1) fig & (2) S ATl (3) ersfa g (4) st fie

63. Which country won the last Ajlan Shah Hockey Tournament held in Malaysia?

(1) India (2) Pakistan (3) Malaysia {4) Singapore
wAfiEn A froet o1 Smife seen e e gine fRe aw 3 Sfene
(1) ¥Ra (2) ifRE™ (3) weHIve (4) famgE

64. The name of Sudha Singh is associated with which game?

{1) Athletics (2) Cricket (3) Tennis {4} Hockey
gt fig = 1w e @= @ e R
(1) uwefEea (2) Fre (3) Fg (4) FH

65. Who was the Captain of the Indian Hockey team in the last Asiad held in China in
20107

(1) Ajit Pal Singh (2) Dalip Tirkey (3) Rajpal Singh  {4) Sandeep Singh
€7 & 2010 § 3o e o § 9y §F &9 & F99 39 997
(1) owflg o fG® (2) oefiw 1% (3) Tomer fog (4} @€du foe

66. The recent building scam in Mumbai was for a high-rise building. How many stories
did it have?

T 0 T QW T TRG W ©F St oe ¥ o911 A2 @ fea 9@ @ off?
(1) 31 (2) 10 (3) 25 (4) 19

(268) 21 (P.T.0.)
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67. Who among the following has been appointed the Law Minister of India in the second
innings of the UPA Government?

(1) Kapil Sibal (2) Hansraj Bhardwaj

{3) Veerappa Moily (4) A, M. Singhvi

Yodioto AT B da Teh § Prefefas § @ 5 s o fros Senomm 27

(1) e fims (2) & wRgE  (3) e dEed (4) To o Tauf

68, The Mascot of the 2010 Commonwealth Games held in Delhi was
{1) Tiger {2) Panda {3} Leopard (4] Lion
gt % 2010 § gU Fiwacy T F OAH TN AT

o it

(1) =™ (2) T (3) = (4} IR

69. Imphal is the capital of

(1) Mizoram (2) Meghalaya {3) Manipur (4] Sikkim
THA TEEET B
(1) fostm (2) e (3) wforgs $ (4) fafem i

70. The number of Permanent Members of the UN Security Council is

HY® TY g uReg ¥ T weeh B owen R

(1) S (2) 10 (3) 8 4y 7
71. ISO 9002 is a

(1) quality assurance in production, installation and service projects

(2} space projects

(3) trade techmnique

(4) name of a product

(268) 22
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AFoTHoIo 9002 B

(1) 3WOEH, TEAYA TS A qfEisEne § UER @ ATvanEe
(2) st afmsE

(3) SR qHATD

(4) IR W AW

72. Where were the first Asian Games held?

{1) Bangkok (2) Singapore (3} Kualalumpur (4) Manila
o URMAT e FE gen w9t
(1) me=is (2) famgR (3) FHITTATIYL (4) =N

73. Who among the following is not associated with Ghazals?
{1) Begam Akhtar {2) Mehandi Hasan
{3) Jagjit Singh (4) Amjad Ali Khan
ffafias § @ &9 oG & T8 991 87

(1) = &R (2) wadl T (3) “sita &R (4) I9Sg Tt @H

74. The first woman Prime Minister in the world was of
{1) Sri Lanka (ﬁ) India (3) England (4) Israel
foma o wom wfeer wamE of
(1) sheam i (2) wRa fi (3) gz (4} TRES 6
75. The ‘International Women’s Day’ is celebrated on

(1) 5 March [2) 8 March (3) 10 April (4) 14 April

(268) 23 (P.T.0.)
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‘st Afgen feag’ mamn S R
(1) 5 = H (2) 8 " H (3} 10 P& @ (4) 14 WS H

76. Medha Patekar is a/an

(1) Philosopher (2) Scientist

(3} Environmentalist (4} Journalist

T IR B @

(1) Twife (2 b (3) wafEwoET (4) TR

77. Dada Saheb Phalke Award is given for outstanding contribution in the field of

{1) Cinema (2) Literature (3) Music (4} Medicine
e AT wEE TR e & § Ry avem ¥ R fa e e
(1) feam (2) wfge (3) @ (4) Tufrmmre

78. The highest peak in India is
(1) Mount Everest (2) Nanga Parbat (3} Kanchenjunga (4) Thottabetta
wra # wee Sf W R

(1) AEE e (2) A TEd (3) FEFM (4) enarfer

79. How many squares are there in a Chess Board?

{1) Thirty-six (2) Sixty-four (3) Twenty-four (4} Forty-eight
o # fmw § feay o e 47
(1) &da 2) @3 (@) = (4) sTEaeE

(268) 24
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On which day is ‘Martyr’s Day’ celebrated?

(1) 30 January (2) 30 Deécember (3) 30 October (4) 30 August
‘wiéfie femd’ frm R wmn s g7

(1) 30 sHad (2) 30 fewmm {3) 30 I (4) 30 =

In a class of 50 students M is eighth from the top. H is 20th from bottom. How many
students are there between M and H? '

50 frenfifeli i @ Fan # M SR F weatl 1 H 9 & 2051 @) M oo H % dfiw § foreet
foremeft &7

(1) 22 | 2) 23 (3) 24 4) 25

P’s father is Q’s son. M is the paternal uncle of P and N is the brother of Q. How is N
related to M ?

(1) Brother {2) Uncle (3} Nephew (4) Cousin

PHRRIOFM TR M, PHINEANN, Q1 o BIN 3 M ¥ o9 = frwar 27
(1) =g (2) == (3) el 4) =t W

Pointing towards a girl in the picture Sunita said, “She is the mother of ‘Renu whose
father is my son”. How is Sunita related to the girl in the picture?

{1) Mother (2) Mother-in-Law  (3) Cousin {4) Daughter

 dghl fl TER F EU A g Gha A FE, 9@ Ty A A R P R Ao @ @7
e wearw R § S aeht & sad w0

(1) (2) u& (3) ==& =E 4 wht

25 (P.T.O)
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84,

85.

86.

87.

(268)

Kamla walks 5 km towards the North, takes a right turn and walks 10 km. She now
takes a left turn and walks 5 km. She finally takes another left turn and walks 10 km.
Towards which of the following directions is she walking now?

(1) East (2) South (3) North (4) West

Foe I B T 5 fRorflo werdt 21 Tl yeh ¥ 9w 10 Fofie == 21 @ w@ W@ g @
a9 5 fhofio wmidl R1 @@ T o mgEd & aw 10 fFotic wwd 21 93 3w w9 few fm
S i

(1) @ (2) gl (3) TW (4) 9fF=m

There are five steel boxes labelled A, B, C, D, E. E 1s heavier only than A. C is heavier
than A and E is less heavier than B, which is not the heaviest. Which of the following
boxes is the heaviest?

ABCDETa H@ daq €| E 9 AQ W@ a1 21 C, AR FH a9 2 9NN E, B &
w9 o B, o fr g o=t 98 ?) Pre 4 @ F ofsw mE ot g0

(1} A (2) B 3 C 4} D

If a person is standing at sixth number in the queue from both ends, the total number
of persons in the queue is

iz w§ =t df o N 9 D S T W R, @ 3@ iF § oo Femn wfs €0

(1) 9 2 11 (3) 12 4) 13

A is three years older than B and three years younger to C, while B and D are twins.
How many years older is C to D ?

(1) 3 2 6 3) 2 (4) Equal in age
ABaduadtagi q aw & fimad g1 81 B A1 D qzat F1 ¢, D & fram af wwr 87

(1 3 (2) 6 (3} 2 (4) 39 § TR

26
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Which of the following runs faster? A train running at 60 km per hour or a car speeding
at 100 metres per 6 seconds.

{1) Train
{2) Car
{3) Both will progress at the same speed

(4) Cannot be determined

frdafmfinhh it ! GO S 60 Fetflo s M AT I v H T o w
R S 100 e wfd 6 FFvg A IR | wA & 2

(1) Y@ (2) +X
(3) A R nfy swew A (4) gifraa =f e s wwa

Pointing to a boy, Meena said, “He is the only grandson of my grandfather”. How is the
boy related to Meena?

(1) Brother (2) Cousin (3} Uncle (4} Data inadequate

TH Agh R TN FG TL NN A T T TAR F F TEAE 0T ) @ . W 9
T WY R7 '

(1) W (2) ==q Wi (3) = @) sFm sty

When the following dates are arranged in their chronological order, which date will
come first?

i F= falEl = Fe w8 A W % AR Fafen B el @ fe-d iy e B
AD 1894; 55 BC; AD 201, 500 BC

(1) 55 BC (2) 500 BC (3) AD 1894 (4) AD 201

27 (P.T.0.)
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Directions (Question No. 91-93) Fill in the blanks, choosing from the four alternatives
given and mark the appropriate answer on the Answer Sheet.

A e (v g 91~93) f& ™ IR faaed § § g7 R T wEl B 9t 9w IwEs swm oA e
- 4 o -

91. A person who on his own effort has the best chance to win.

{1) makes {2) puts {(3) relies (4) runs

92. When he died, Satish behind three books.

(1) was leaving (2) had left (3) left {4) leaves

93. In a classroom, students are to be taught to love

(1) each other {2) all others (3) one another {4) altogether

94. How many medals did India win in the 2010 Asiad held in China?
#7 F 2010 # qUu wRere # 9w A feed wEw Sfae
{1) 59 (2) 64 {3y 67 4) 79

95. How many gold medals did China win in the 2010 Asiad held in China?
T 4 2010 # T e & <. 3 T @l uzew o

(1) 200 (2) 199 (3) 205 (4) 189

96. Fundamental Rights of Indian citizens can be suspended by the President
{1} during n.ational emergency
{2) during all kinds of emergency
(3) with the prior approval of the Supreme Court

{4) with the prior approval of the Parliament

(268) 28
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Tguly gr1 s Ariet % q@ ot A FefRm fen w1 oaee R
(1) U¥ IUEEE F QU (2) Tl TFR F AUEFIA F DM
(3) =" waWE % gd g W (4) Woz F 7 HAgEeT

97. In what proportion do the members of the Rajya Sabha retire?
{1) All the members after six years
{2) Half of the members retire every three years
(3) One-third of the members retire after two years

(4) One-sixth of the members retire every year
TENT % weed g ogu d darfigam B ¥

(1) @t gz 8 adl @”

(2) @ gl wg Y wEEw g B E

3) % Q 6 # TH-foed v dartgm @Y E
@) T ad ed M wee e A 3

98. India became a member of the United Nations on
(1) 26 January, 1951 (2) 15 August, 1947
{(3) 30 October, 1945 (4) 2 October, 1950
HE T TP GG s
(1) 26 w=d, 1951 =N (2) 15 30/&, 1947 =

(3) 30 I, 1945 # (4) 2 I, 1950 W

(268) 29 (P.T.0.)
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99. The British Prime Minister during India’s Independence was

100.

101.

102.

(268)

(1) Sir Winston Churchill (2) Clement Atlee

(3) Lord Mountbatten {4) Sir Stafford Cripps

IR B waEa % wng el yawedt 9

(1) ® freem wfe (2) =iz weh (3) @€ TEwesed 4) W W fwrw

Who wrote the first book on the Constitution of India?
(1) B. R. Ambedkar {2) Durgadas Basu

(3} H. M. Servai (4) Jawaharlal Nehru
g ¥ fum W teel e e foret?
(1) #fo Mo FFTH (2) W oY 3) TW@o Wo e (4) EwEE ATE

Two trains are running at a speed of 200 km per hour. They start at the same time
from opposite stations and have to cover a distance of 1000 km each to reach their
destination. If they both start at 10-00 a.m., at what time will they cross each other?

(1) 12-30 p.m. (2) 230 p.m. (3) 11-30 p.m. (4) 1-30 p.m.

R tomfeat 200 fFerfto ofy wvey I R @ 9« @ ¥ A9 W @ ww Fule R ¥ Sed
T AU I el W ude ¥ % 1000 fRerle 1 Th qw wh ¥ AR AR 10 w9 e

Tadt ¥, A - R e g 9w

(1) 12-30 AT 2) 2:30 B (3) 11-30 T (4) 130 AN

Lata bought a saree for Rs 2,442. On coming home she realised that the saree was
-:15 metre shorter than the requisite length. She was cheated of Rs 222 on account of
this. What is the actual length of the saree?

(1) 4% metres (2) 5 metres (3) 5% metres (4} 6 metres

30
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AqM A TH TR 2,442 To ¥ WG W AW W IW oaE R fF o Fuife wed @ and
et B off) Tl ooE ¥ IEH W 222 Fo F FA g WG H AwAfyF owad F AR A7

(1) 43 (2) 5 Hi" (3) 5% (4) 6
A car which costs Rs 1,20,000 is discounted at 5%. What is the discount?

(1} Rs 4,000 (2) Rs 8,000 (3) Rs 6,000 (4) Rs 5,000
h HR R fimd 1,20,000 %o R, W 5% H g ¥ w2 B w0 oww 22

(1) 4,000 % 2) 8,000 % (3) 6,000 % (4) 5,000 %

At a farewell function of 60 students, each student shakes hand with every other
student. How many total handshakes will be there?

60 fammidal & & faR we d vew el @ fedf @ o fera j) 39 few W T
firam i 2

(1) 3540 (2) 3600 @) 1770 (4) 3000

A piece of cloth costs Rs 70. If a piece is 4 metres longer and each metre costs Rs 2
less, the cost remains unchanged. How long is the piece?

(1) 8m (2) 9m @) 10 m (4) 12m |

TF FIS F IHs h HWd 70 To B I TH IFW W I 4 AR s T §oaw Hiea
2 %o wia Hiew Fm 2, A o onfEfiy wa 1 gHE A wand wn }2

(1) 8 #o (2) 9 o (3) 10 #Ho 4) 12 Ho

A shopkeeper earned Rs 504 in 12 days. His average income for the first four days was
Rs 40 per day. His average income for the remaining days is

(1) Rs 40 (2) Rs 42 (3) Rs 43 (4) Rs 45

T @ 12 fel § 504 %o wAar 31 Ew 4 B ¥ swh ofmd 9w 40 To wfa Rm off)
N R H seh ofwm o R

(1) 40 %o (2) 42 %o (3) 43 %o (4) 45 %o

31 (P.T.0,
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A and B can do a piece of work in 18 days, B and C in 24 days, A and C in 36 days. In
what time can they do it all working together?

(1) 12 days (2) 13 days (3} 16 days (4) 26 days

AT Bfsfisd & 1s Rt A W wwa 8, B 9 € 24 At §, A s ¢ 36 R4l #) wf
firgan 3q o ) e &4 & = wR €7

(1} 12 f&= ) 13 f= 3) 16 fm (4) 26 &=

A dealer professing to sell at cost price uses a 900 gm weight for a kilogram. His gain
per cent is

W AR FARE W AN W R w9 g w feim i w900 Tm F AR W owEm
= ¥ ek a W vl

(1) 9 (2) 10 (3) 11 (@) 114

The average age of a family of 5 members is 30. On the death of a person the average
age is reduced to 20. What is the age of the dead person?

s weEll ¥ w iEr B e o 30 1w wfe B g W ol 9y 20 & I} owa
=fts A 3w w0 X7

(1) 70 (2) 50 (3) 65 (4) 55

Ais twice as good a workman as B, and together they finish a work in 14 days. In how
many days can it be done by A alone?

(1) 21 days (2) 42 days (3} 23 days {4) 25 days

ABAagmym wien i e i wad & 4 R Fowm o €1 A S T o Tw
w4 w fFmR R & Ren s wwa 30

(1) 21 &= (2} 42 &= (3) 23 f&m 4} 25 A

32
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You have been caught red-handed in an office looking into a file marked ‘Strictly
Confidential’. What will be your most reasonable action in the situation?

(1) To feel sleepish and embarrassment
(2} To admit to the crime

{3) To offer an excuse

(4} To stand rooted to the ground

oM FEeE ¥ wd SEw ‘ARt e}, 3o g @ el gw? W 0 A widedy
7 R TR giege Been am ARty

(1) iR a0 =FA AP FAN (2) T B R A
(3) ¥ sEF T (4) I | wZFd G A I
A boy is chosen at random and found to come from a family with two children. What is

the probability that the other child is a boy?

TF AW NHEF GN WA R I IR T o ¢ B aj Qw9 wRem H oan @ =
¥ Wt W o H wewEn R 7

(1) 2 @ 1 @ 3 @ 1

In an enclosure of a zoo, there are some rabbits and pigeons. If their heads are
counted, they are 90 while their legs are 224. Find the number of pigeons

w fafame & 9§ 3o oy aun wqm § S R f g 90 ¥ A A dww 224,
Fagd H dem s

(1) 44 (2) 32 (3) 68 4y 34
A cistern has two pipes, which can fill it in 2 and 3 hours respectively. A third pipe can

empty it in 5 hours. If all the three pipes are turned on when the cistern is empty,
when will it be filled?

(1) 22 hours {2) 3019 hours (3} 19-30 hours {4} 23 hours

33 (P.1.0.)
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WIS Y T M I w2 W@ 3 W F o wwd #) o =@ @ 5 R ¥ arft w
@ R W SEgus @i }, AN T = W e R 9w €, ag el i s smhme

(1) 22 =2 % 2} 3019 w2 # (3) 1930 52 # 4) 23 92 ®

Muslim marriage is a/an

{1) Sacrament (2) Civil Contract

{3) Divine Commandment (4) Agreement

gfem e 2

(1) wenm (2) fife afm (@) Rew smwm (4 W

Once promoted as the Chief Justice of India, he serves till he attains the age of
(1) 62 years (2) 63 years (3) 64 years (4] 65 years
AR TR SR AT AN AT AL, W WA IR A
(1) 62 =f 2) 63 = (3) 64 = (4) 65 ¥

Mrs. Pratibha Patil is the

(1) 13th President of India (2) 15th President of India
(3) 11ith President of India (4) 12th President of India
ot wfn afew €

(1) wa H 1341 wpuia (2) wma & 15 wgafy

(3) ¥R H 113 vl (4) s € 12 uwaf
Can a couple who has adopted a son, adopt another son legally?
(1) Yes |

(2) No

(3) No, because law prohibits it

(4) No, becaunse it would be unfair to the first child

34
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T @ @ R @ oo Tew fen R, e g g @ gow o w wea R0
(1 &
(2) =&
@) ¥, iH Ry 3§ @ = & v F=av @
(4) 7, wifs 7 v X F Rl oglee R
.1 19. According to the Indian Majority Act, a major is a person who has attained the age of

(1} 18 years (2) 21 years (3) 16 years (4} 17 years
e TREa Aufem ¥ oneR w =fs Tues ¥ fm 3m ww oot R

(1) 18 af (2) 21 =8 3) 16 = 4) 17 =¥

120. A person whose guardian has been appointed attains the age of majority at
(1} 18 years (2) 21 years (3} 25 years (4) 19 years
w afw ek R dws Gge fen o R, s w1 3, 99 o oW @ IR
(1) 18 3 2} 21 = 3) 25 = 4) 19 af

121. A dacoity needs at least
(1) two persons (2] three persons (3) four persons (4) five persons
=R F A m s E
(1y ¥ =fs (2) @ = (3) =” =h® (4) dt= =fes

122. The minimum age for marriage for a boy and girl is
(1) 18 years, 21 years {2) 21 years, 18 years
(3) 18 years, 1B years (4} 21 years, 21 years
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@ W @ W avh ¥ fae ¥ w9y 3
(1) 187d,21a§ (2) 215, 183 (3) 18, 18 (4) 21 =¥, 21 =

123. In Law, a man is presumed to be dead, if he is not heard of as alive for

{1) 5 years (2) 7 years {3) 9 years (4) 10 years
fft ¥ sofe & 9= R q@ oW e s R, R 3@ Shfm B @ g omn @
() saf A 2 7= @) om B 4 1wadR

124, Who among the following persons in India is the Chairman of the Planning

Commission?

(1) Finance Minister {(2) Prime Minister

(3) President {4) Home Minister
frafifan # ¥ P-w =t Ao SR = ey @@ 27

(1) f= R (2 wwrh (3) ugfa (4) e W

125. The early release of a prisoner is called

(1) bail (2) parole (3) lease @ lien
7@ € d Poife weeh R
(1) e (2) ¥a (3) " (4) GTONTRERR

126. The First Round Table Conference was held in
¥R N A i e ad gen @y

(1) 1930 (2) 1935 (3) 1915 4) 1942
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127. Which one of the following was conferred with Oscar Award?

(1} Amir Khan {2) Shahrukh Khan

(3] A. R. Rehman {4) Amitabh Bachchan

frafafgs & @ feam sifeR qEaR d gomi fen

(1) sfR @ (2) TR (3) T WMo WAM  (4) ™ w=W

- 128. Who propounded the theory of relativity?

{1) Einstein {2) Newton (3} Anderson {4) Edison
w1 Rigre frmd yfuiie Ren?
(1) InFEW 2) =H 3) WA (4} oEE

129. Bermuda Triangle is known for

(1) drug smuggling (2) disappearing of planes and ships
(3) pirates (4) weapon smuggling

T B s S R

(1) R = H g=wt ¥ A (2) e @ TEE $ ame e ¥ fR
(3) wN At ¥ A (4) R | T H R

130. Who invented dynamite?
(1) Newton (2) David Calcut (3) Alfred Nobel {4) L. L. Fuller
e F iR fee faane

(1) = (2) T FEw (3) ke NaAw (4) To THo FFW
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Section—II
w1l
Either

ENGLISH LANGUAGE TEST

Note : Four alternatives are given as possible answers to each question. Give the correct choice

as an answer.

Directions :

131. Impertinent
(1) Dirty

132. Construct

(1} Destroy

133. Calamity
(1) Danger

Directions :

134. Lenient

{1) Strict

135. Detain

{1} Imprison

(268)

(Question No. 131~-133} Select the word nearest in meaning to the given word.

(2) Rude (3) Sad {4) Serious
(2) Paint (3) Build {4) Finish
(2) Fear (3} Misfortune (4} Risk

(Question No. 134-136) Select the word opposite in meaning to the given word.

{2) Kind (3) Bad {4) Cruel

(2) Arrest (3} Punish (4} Release
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136. Integrity
(1) Darkness (2) Dishonesty (3) Cruelty (4) Sincerity

Directions :  (Question No. 137-139} Select the right word to fill in the blanks.

137. How much did it you to have your radio repaired?

(1) charge (2} cost {3) price (4} estimate

he had to suffer

138. Despite his

{1} negligence (2) innocence (3) fault (4) crime
189. The police —— him of stealing a car.
(1) warned {2) beat {3) threatened {4} accused

Directions :  (Question No. 140-142) Choose the word which can be substituted for the
underlined words in both the given sentences.

140. (a) His understanding of the subject is really good.

{b) Rajesh had to hold on to the handle with all his strength.

(1} pull (2) grasp (3} power (4) make-up

141. (a) 1 cannot endure such a loud noise.
(b} He preferred to consider the other view.

(1) bear (2) support (3) stand {4) position
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142. (a) Our stadium can seat one lakh spectators.
(b) Ashish is willing to adjust his programme with mine.
(1} accommodate (2) arrange (3) hold (4) view

Directions : (Question No. 143-148) The underlined part of each of the given sentences
contains an error. Choose the option which will improve the sentence.

143. He prefers tea than coffee.

{1) to coffee (2) from coffee (3) against coffee (4) for coffee

144, [ have come to see you yesterday.

(1} am coming (2) have came (3) came (4) will come

145. She is sitting in the library since 5 O’clock.
{1) sat (2) has been sitting

(3) sits {4) was sitting

146. Scldom | found her playing with her friends.
{1) did I found (2) did I find (3) I did find (4) I was finding
Directions :  {Question No. 147-150) In the given sentences, identify the parts of speech of
the underlined words.

147. He often comes home late.
(1) Adjective {2) Adverb of time

(3) Adverb of frequency (4) Preposition
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148.

149.

150

He loves her soft skin.
(1) Adjective of quality
3} Adverb

My friend is a doctor.
(1) Object

33 Subject complement

The music sounded strange,

{1) Transitive Verb

3 Intransitive Verb

41
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Predicative Adjective

None of the above

Object complement

None of the above

Linking Verb
Auxiliary Verb

(P.T.0.)
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Or
Fga
=8 aieror
e Peffm sl (1), @), Q) M @) FNF F M-MIFAF A RV E e a =
@ ud })1 @ T oA Fha

151, TR w1 BR-W FPDE ¥9 H T IR falt F wmew F 27

(1) 341 (2) 342 (3) 343 (4) 344

182, Tew T ¥ R ¥, feo sl oo @n 9 Iy dier mn?
(1) 351 (2) 352 (3) 353 4) 354

183, foyumfe 3 2oz Rum gl FR- @ fmh?
(1) i (2) formaeh (3) faferr== (4) TEY wham

154, odff 8 3 seafa -t Al @ e B wed?

(1) e (2) = (3) eheish (4) sheE
155. A faf & frew wufs 9 w frw Bl @ gean?

(1) wreh Fafy 2) = faf @) Fia fal 4) srag fafr
156. &=, fr wo ofewm & wafm R?

(1) i 2) R (3) #ER 4) =@
157. frafafes # oirem w=f - 22

{1 % (2) = (3) 9 @

(268) 42



158.

159.

160.

161.

162

16¢ .

(268

T W W Y@ A ;7 R?
(1) @ () v @)

‘o TEE, H YA TN 931G g
(1) wm (@) we=h (3)

e e B o & R § e gen b
(1) Swrh (2) gl (3)

pyEd § F-m Tom ffm 27
(1) gt @ fa (3)

‘e’ § A-w T R
{1) wiary (2) wghfR (3)

‘W oo REm T e
) hm (2 g 3)

A TR = w R W A7
(1) Feim (2) wieem 3)

“@ felt e @ oag ¥ af awe @7
TR i w wd e g

(1) 3h (2) v (3)
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4

(4)

{4)

@)

{4)

{4)

(4)

@
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166. ‘‘gm R s @’
T ¥ R wf w= w e fifn

(1) gita (2) yua (3) gomEH 4 i

167, ‘adiEnr’ § F:3-w@1 I wgE 27
(1) ¥ (2) ¥+ (3) a4 (4) =1

168. ‘Tamw’ 1 uE wiufredg ww &7

(1) 39 + = (2) 3% + T (3) & + wm (4) T + I

169. “‘mh fra o, @ w W AW = @ o wabe Ry
(1) S9%a TN (2) 9% & sfq 5 WA
(3) +& 1 g AW @ (4) du s

170. @ Tl E, g7 oS gem
4 A ¥ x ==l § 3@ wwm

T A TGE RN TANY
(1) ™ 2) % (3) Iy (4) IFam

v %k k
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saforlf ¥ fog frdw

(39 Yf & Wg9 SEW-9¥ W G SW-UE ¥ T ¥ W Fae diel @ @l ae-age W8 @ )

10.

11.

12.

13.

14.

. Y9 g e % 10 B % R @ 3w W R owamy & it gy g § e w oww

g 9 B YR QW TR TN W e g aehe wa-Thas # T T\ e #
zult gfem wm @ & |

e v ¥ e BT w@v-T & gRfE e wmowm wE ot gen we Wy # 9 e

IW-TA T A o w2 @ 7 o WE s 7 & g F g0 IO TE BAW ARV, FAST IH-
7 & & Yo fEwm Tami

ST HIFAE TG FR-I7 B I 747 wA-38 | 37 ¥ Pife em w fad)

I-UN ¥ AN U W ¥ ¥ aen omewiw Proife wm W fod wn e iR o9 @ o WA
wol-wel smavrw @ =gt wer-giEw W wRe 9w e | TR 3w wEl W fed)

o WHo Mo I W ITHFA® &N, WH-Taw dem J e @ (e 8 &) ad ww-gfah «
sEiE Ho 3l Se WHo Mo WA Wo W WhAfEEl ¥ IufEr@d # egala A ¥

ITEw wadl § W of oftadd W Frdes g0 wwim S5 Sfed S A% Tk SEfea WEH O
HET ST

- H TS W % O S9fvvw W B R ¥ 5o mve & defve I ¥ 9 sl Iw-
yy % wEfyy vy & umd B 13 gu 9 To-v9 & vew W W R 14 W % egan 7 @ mer
T &

T T R S F N A0 0 G g9 W T W T ¥ ofuE g W Me W W A T
9 R Yt W W IF W W A SEE

o ¥ f5 Uw AR W gR sifeq S seen A8 o wehal ¥ Ay oy TR wew & 3w 78t 49 amEe
2 H umtys W ¥ oue R R SR @ w9 3 W T W oy o @ e

@ w1 ¥ o wE-Ifes & qEys F o I Yy wen o gy w W w)
e & IT0T HAA IMoTHoHWo IF-IF T waw H W I ¥
e TOW T R TEA ThEm wad ¥ W@ 9 & egmfa T A

afx #r¢ sl Tde 4 amfEm W W WEW aXa §, @ o favafrerem gw fauifa de v,
BT/ |
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